FTERB—ON—A—HBETERBE-—OALFF+-_A=+—HIE

E¥F® # B —OREE | —OAEE b 8 0, ey
HE REH BHEH # ()& (-)

(—)#shdA | 15355000 § 14,355,000 | 1,000,000 | Ak 50437 : 1,695, 000
#E FERT] 13, 660, 000
1. T8 R#8 | 10,860,000 | 10,860,000 0 ARZIET - 1,500, 000
(FFHEH) #HEFERT 9, 360, 000
2. EFdN 4,495,000 3,495,000 | 1,000,000 | &b 5 - 195, 000
(K EAHEN) #EFZERT : 4, 300, 000
(=)# & | 13,000,000 | 12,700,000 | 300,000 | Ak b3 : 12, 000, 000
#EFZEART 1, 000, 000
1. A& HBh 13,000,000 { 12,700,000 | 300,000 | AP #&7] : 12, 000, 000
#ERZRART 1, 000, 000
(Z)E kA | 2,410,000 2,410,000 0 ARZVET - 2,350, 000
#ERERY 60, 000
1. E Bl 410,000 410,000 0 R RIV$#EF - 350, 000
#EFZERT 60, 000
2. JEF AN 2,000,000 2,000,000 0 ARRIVERT] 2,000, 000
#EZERT 0
4 3 30,765,000 § 29,465,000 § 1,300,000 | A2 4R3F] : 16, 045, 000
#HEZERT : 14, 720, 000
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B

PERE—OAF—_A—BEFTERBA—OAF+-—A=+—H

E¥w| # 8 —OiEE | —ONERE b #, ey
BE BEHR AEHR #( )Rk (-)
(=) 2,225,000 | 2,225,000 0 ARV ES 585, 000
#ERZRERT 1, 640, 000
1. AE 1,690,000 | 1,690,000 0 ARV 450, 000
#ERERT 1, 240, 000
2. F % 535,000 535,000 0 ARV ERS 135, 000
#EFERY 400, 000
(=)B®=E£ | 33,935,000 | 30,135,000 | 3,800,000 |Ars 45 : 11,030,000
H#E2FZERS 22,905, 000
1. AF 12,430,000 | 11,430,000 | 1,000,000 |Amsnb#3| : 2,700, 000
HERERTY 9, 730, 000
2. ## 6,055,000 | 6,255,000 § (200,000) | AP+ : 1,530, 000
HERERT 4,525, 000
3. ¥% 6,900,000 | 7,400,000 § (500,000) |AFEsb &7 : 5, 400, 000
H#ERERT . 1,500, 000
CHREREEME L
= o I
4 ERITE 5,900,000 | 2,400,000 | 3,500,000 ARV : 700, 000] = E, &ﬁi@ SRR,
ERFIVTE 0 1095
HERBERY 5,200,000) sepospeisir 5 E
5. PR B4R 2,600,000 1 2,600,000 0 ARV ERS 660, 000
#ERERT 1, 940, 000
6. 7By B 37 BY 50,000 50,000 0 ALV . 40, 000
#E2RERT 10, 000
(=) &#E44 | (5,395,000) | (2,895,000) | (2,500,000) | AFz s 4251 - 4,430,000
H#HEFEERY -9, 825,000
4 3 30,765,000 | 29,465,000 A&7 . 16,045,000
WwEFREEZ 14,720,000
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PERE—OAF—A—BEFPERR—OAF+—_HA=4+—8i
EFE # B —OnEE | —OA%EE i ;| P
BE FEH FEH #(H)rk(-)
(—)#spde | 13,660,000 | 12,660,000 { 1,000,000
1. BT B 9,360,000 9,360,000 0
(e FH#)
2. F R 4,300,000 3,300,000 { 1,000,000
(#8h)
(=) HF &N 1,000,000 700,000 300,000
1. &8 1,000,000 700,000 300,000
(Z)Edn 60,000 60,000 0
1. 2 Bl 60,000 60,000 0
4 3 14,720,000 | 13,420,000 § 1,300,000
L NER ] it | o [
4oy




TERA—OME—A—AETERN—

AE+—_HA=+—8i

E¥Fw # 8 —OR%E | —OANEE m ® B ey
BE RAH REH | #EHE)
(—)47% 1,640,000 | 1,640,000] 0
1. AE 1,240,000 | 1,240,000 0
2. % 400,000 400,000 0
(=)BwFEE | 22,905,000 | 22,905000] 0
1. AE 9,730,000 | 9,030,000 | 700,000
2. Akt 4,525,000 | 4,725,000 | (200,000)
3.¥£% 1,500,000 | 1,500,000 0
4. %% BHE | 5200000 5,700,000 | (500,000)
5. R B4k 1,940,000 | 1,940,000 0
6. #8h & 37 B 10,000 10,000{ 0
(=)asess | (9,825,000) [(11,125,000f 1,300,000
1. #H A 7,000,000 | 7,700,000 | (700,000) | B & &3t 41 B MR, M3k AR RS SR IE
A o B PO 248 B oL S 4R
& (2,825,000) | (3,425,000)
EEA &3t & 4 gggm{]




